mag'ﬁazm/ QUESTION BOOKLET

gﬁaamﬁq&haﬁm/

gﬁaaﬂﬁmahaﬁm/

Number of Questions in Booklet :

1. U9 U3 I gt el 3 Vel HUT 3l Heet YRR 312 303, R-U B oitd
$? 3R Fefdad & i :

5ea et AR 3. UA.3R. J2-5 I ol Ha1 Fa1a 6|
Ya Jfecrebl o Aol %G oleb A e & A Aol Tel W2 AR Yedt fed 61

foaft oft frfortr/eT & amerer &, 319%1eft 1 e gRereT 3 31 0.3, -1 A
el & (o7 et SO ot ATeTet aht gl Qe AR | Totem UIRedt &t & Uil foere
e 5 Faier 3 fepatt oft ara/3mufer e e o fepar oo | garcs forw arazreff et
&l

2. 30UA3R. F-we & Ui u v Faf e v |

3. 3N.0A.3. TR-TAF R &4 et Al WIge Uel &1 T e | U, 3. UA.3R. JeR-
Tl & 30T et A AR 3 AeTebre T8 &on & oY |

4, I yeE & 3ie T &| TS Ieid IR S foTU U9 T 1/3 3iep e oiat |
5. e ot vea o fo1u Ue A 3itres 3o aHfehet b o it 3 ol o1 3 Afen oo |

6. Y 5o & U Reu/otl €1 vget ar faeu/anet A, B, C 3R D 3w i &
Fafer € 31 Taa faasea/aier ‘E’ ‘S ves’ 3 Aaa |

7. T8 T cte & forw ararell o 31 e, 3. Fe-Use W Faittid Uoet A b et IR
feeeu A, B, C a1 D & el Us faceu/diiel & allet et @ige el 3 12all 8 |3t
apoyelt femelt U9e T 3T ) Sl Wieal &t U feebeu/onet ‘E” & gl et a |

8. e uig fomeal & 3 1S oft Rcpeu/otren orexr =1 e ora it weat a6t 1/3 7 S e
fora s |

9. 10 yfdd 3 it yeal & it oft ferepeu/one o1 sraiell grey orewr gt fban ot 34
Tdlen & forw arog 91y &2 fear s |

10. 3reell 1 U Yot o foT0 5 A b U Focbea /ol o1 8 21 el g effvad et
e 10 foere sfefva e oo |

. 3 5oa o Tt am 3i3fet! Heon 3 g a1 TR Tpiel b fehait ol e 1 e/
TeTdl 3, ot 3ol e Bt 3iferet aer s |

12. T & & AaTse e/ fearsa an fost are geragfords droic a1 U I dforct
13 ol arareft & urr vt g wierafire el wr o s ferg fereraaR
IF&I BRATS B S|

el : A i 3l b Bed GO T Wl & A e aLidb STGad gU Urel STl & 21
T2 U BT SFeneigeel AR TS el & alf 32906 el Yferdl Tt # U0, 3. 3R, &t bt
T 3 a5 2o Aduierds Utlan aiftfera, 2022 3R Heiea aiftferar 2023, (orff
G el Dt AHTH B SHEURI) b e PG el S 170 Jreareht arom foreret 10
A 3yTotiad SRIGRT o T 10 BIS a T UIaeld & |32 1S 1 e oot Faft wdvemmant 3 el
F0 3 feafofar of foam ot Fepen &

A UdNar gﬁ?ﬁh‘l Y 9 b o FATel oidl b Bal 1 ST | DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO.

P.T.O.

&% 56HH

S56HH

o
| S WRle YRidebl & dd deb & Silet oidl dleb el o oMU |

315a 9T INSTRUCTIONS

1

Question Booklet Number
U9e GRA®BT HAID

1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.

In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.

Read all instructions on the reverse of O.M.R. Answer Sheet.

3. OnO.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for aquestion, itwould also be treated
as wrong answer.

6. Each question has five options/circles. Firstfour options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does notdarken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

1. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadgetin the
examination hallis strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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ARA B FTOET (2011) F AR, TSI F T

TETTTIOTe (0-6 ) T 2T ?

(A) 780 (B) 895
(C) 888 (D) 980
(E) R e

A 3T BAHAM T 84,000 3T T 80,000 BT LT HIH
TR & [6AT| TR HEM 18, B 7 T 12,000 FHT 31
faer TRl 3E @99 ¢, T 96,000 T AT FIH
IR T [T 47| TR [ HI 5 TH I IS &
I ATH H A, B 3 C & @THIT H FT 301
ZNT ?

(A) 21:22:16 (B) 21:20:24
(©) 21:23:24 (D) 21:20:16
(B)  3raRd 99

TS | 39S W= Ul el RUa g ?

(A)  ITAWR (B)  WaTg WX
©) SR (D) fasiieTe

(B)  3rgana ued

r=fafed & ¥ 69 =@ W @ e
(v Rrgnfeg d Ha) T ST TSTRATH H 370 AT ?

(A)  ¥TeLAT (B) #HETaT
© ITHTE (D) =T
(B)  3rgana ued

frfeiad & 9 wow ol rtubramelic omq
FATTE?

(A) T (Pb) (B) 9RT (Hg)

©) uiehr (K) (D)  FARMEH (Mg)
(B)  3rgaRd 99

frfetiEd # ¥ fF AR 59 o WAt heaT ar
T 2025 B! AT BT 2

(A) TSR (B) st
© fuEr (D) wem g=r
(B)  argand e

According to the Census of India (2011), what was
the child sex-ratio (0-6 years) in Rajasthan ?

(A) 780 (B) 89

(C) 888 (D) 980

(E)  Question not attempted

A and B started a business by investing ¥ 84,000 and
< 80,000 respectively. After 4 months, B made an
additional investment of ¥ 12,000. At the same time,
C joined the business with investment of
% 96,000. What will be the ratio in the shares of profit
of A, B and C in the profit made at the end of one
year from starting the business ?

(A) 21:22:16 (B) 21:20:24
(G 21:23:24 (D) 21:20:16
(E)  Question not attempted

Where in Rajasthan is the Umaid Bhawan Palace
situated ?

(A) Udaipur (B) Sawai Madhopur
(©)  Jodhpur (D) Chittorgarh

(E)  Question not attempted

In which of the following place was Swami
Keshwanand, (a Educationist and Saint), born in
Rajasthan ?

(A) Magloona (B) Mandawa

(©) Deomali (D) Neemrana
(E)  Question not attempted

Which among the following is the most reactive
metal ?

(A) Lead (Pb) (B) Mercury (Hg)
(©) Potassium (K) (D) Magnesium (Mg)
(E)  Question not attempted

Which of the following states of India hosted the
Khelo India Youth Games 2025 ?

(A) Rajasthan (B) Punjab
(C©) Bihar (D) Madhya Pradesh

(E)  Question not attempted



7. frfetiad et & & ®i I giet To9 & Fad T
feam # Rera & 2
T g aTw faeedt # W WO IUGT IR BT AT
Ehl\;_:
(A) Bl e (B) T gt
© gt (D)  FosteT gitet
(B)  rIaRa wed
8. TrTeRad & ¥ HI-TT TS Al ATed T WieT
STSTIT ST Y TR STTar &, fSres s fra
3 et Tt St BTt @ R gt g ?
(A) e (B)  qwmem
© = (D)
(B) rIaRa ued
9. TrferRea & & S I TSt I TS 5 WETS TGt
T2
(A) @t (B) d=w
©) A (D) iRt
(B) TIaRa ued
10.  9RA & WA & Fdqd Fefiad § § S 9T
Hiferep STfrPR T T ?
(A)  TIe HTIMIHR
(B)  wiwphes sl Aferes srferpr
Q) 3TieoT & g TSR
(D) Henfes ITaRT &7 ARIHR
(B)  3raRd e
11.  MS Excel # Tigefic #t fewice Taace am gt
2?2
(A) .docx (B)  .xlsx
(C) .text (D) .csv
(B) rIaRa wed
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10.

11.

Among the following lakes, which one has the
northern-most location in the state ?

Choose the most appropriate answer from the
options provided below :

(A) Nakkilake (B) Rajsamand lake

(©) Sambhar lake (D) Pichola lake

(E)  Question not attempted

Which of the following forms of Rajasthani folk
drama performed by the Bhil tribe depicts the
stories of Lord Shiva and Goddess Parvati ?

(A) Gavri (B) Tamasha

(©) Swaang (D) Rammat

(E)  Question not attempted

Which of the following rivers is not a tributary of
Banas River ?

(A) Khari (B) Berach

(©) Jakham (D) Kothari

(E)  Question not attempted

Which of the following is not a Fundamental Right
under the Constitution of India ?

A) Right to Vote

B

~

Cultural and Educational Rights

(

(

(©) Right against Exploitation

(D) Right to Constitutional Remedies
(

E)  Question not attempted

The default extension of a spreadsheet in MS Excel
is:

(A) .docx (B)
(©)  .text (D) .csv

xlsx

(E)  Question not attempted

P.T.O.



12.

13.

14.

15.

16.

TSTRAT T HI TEet HEl AT, ST 2015 H ST H
JEEE A, FTAAL :

(A) ISR (B) T aTE
©) wgamERA (D) YT
(B)  3rgaRd e

S ALY TTLROT TS IR 3 T 7 T B 60% T
ST &1 12,250 R 2 99 & T AT X H Agis
TS T &I ?

(A) 8820 B) T5,39
Q) T4,900 (D) 8918
(B)  3rgana ued

TRt oo &7 Rt feTiad # o [T 95
FATE ?

(A) WA Tatae T
(B)  3iaT-T=T gRwe

(C) o ot Atafa

(D) T I

(B) TIaRa ued

TR § AT Tl Ud @ AusRl ot
frafrm TR IR BT R

(A)  TTSTE A (B) ™

© == (D) e

(B)  TIaRa wed

AT R BT HIA AT [ AT TR BT
(Red Blood Cells) @ feT#io7 o feTq Searalt gian g ?

(A) g (B) wRaws
(©)  arRer wSsT D) =™
(B)  3raRd 99
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12.

13.

14.

15.

16.

The first metro line of Rajasthan state, which began
operating in Jaipur in 2015, is named as :

(A) Orange line (B) Pink line

(C) Blueline (D) Red line

(E)  Question not attempted

A sum of money increases by 60% of itself in
3 years on simple interest. What will be the
compound interest on< 12,250 in 2 years at the same
rate of interest ?

(A) 8820 (B)
(© T 4,900 (D)

< 5,390
3 8,918

(E)  Question not attempted

The Chief Minister of a state is a member of which
of the following ?

(A)  Election Commission of India
(B) Inter State Council

(C)  Public Accounts Committee
(D)  State Selection Board

(E)  Question not attempted

In Rajasthan, the Chief Medical and Health Officer

is appointed at the level.
(A) Revenue Village (B) State
(©)  Block (D) District

(E)  Question not attempted

Which part of the human body is responsible for the
manufacture of Red Blood Cells ?

(A) Lungs (B) Brain
(©) Bone marrow (D) Heart

(E)  Question not attempted



17. A 730 foa & et 1o 1 Ueh-forers s e fepa|
Y HTH B 40 T 7 q=7 opam | arfs o Ferane s e
a1 3T AN BTH BT b= 57 7 BT b ?

(A) 28 B 17~
©) 20§ (D) 36
(B)  3rqaRa wed

18. TSR ¥ heb YW@, T & 16707 R ¥ freteiaa

H ¥ fpe STE % e J TERAT 2 ?
(A)  FrEaTS] (B) dat
©) FuR (D) TSEHE

(B)  3rqaid e

19. TSR H T UG U T AT & | a7 HGror
& Tl |, TTaiaa 3 9 T Sigwe oy a9t
QA E (T UG 3T ) -

(A) TatE w_TE
(B) wud MaAA
(@ wEEREd
(D) T ITHT & ITTNT A TG
(B) 31 aRd A

20. IR TR ARG TR TRE F
= fT Y feebedt W | S SUYTR IR BT LA
B
(A)  ARETETaE
(B) 3R
©) hrgt
(D) St
(B)  3rqaRa e

2l ISR WIBR & IMIST YEEH, FEdT Td AR
TR T T AT Bef RUA T ?

(A)  STrerqT (B) SEX
©) SIFeAR (D) 3WER
(B)  3rqaRa e
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17.

18.

19.

20.

21.

A has done one-third of a work in 30 days.
B completes rest of the work in 40 days. If they work
together, then in how many days can they do the
whole work ?

1
(A) 28 ®) 17

() 2o§ (D) 36

(E)  Question not attempted

In Rajasthan, the Tropic of Cancer passes through
the southern tip of the state near which of the
following places ?

(A) Banswara (B)
Q) Jaipur D)

Bundi
Rajsamand

(E)  Question not attempted

Soil erosion is a major challenge in Rajasthan. Soil
conservation efforts include all of the following,
except (choose the most appropriate answer) :

A) Regulated grazing

B)  Crop rotation

(

(

(C)  Strip cropping

(D) Increased use of chemical fertilizers
(

E)  Question not attempted

Rajasthani dress famous at the National level is :
Choose the most appropriate answer from the
options provided below :

(A) Marwari Pagri

(B)  Achkan

(©)  Angrakhi

(D)  Jodhpuri Coat

(E)  Question not attempted

The head office of the Disaster Management, Relief
and Civil Defence Department of the Rajasthan
Government is located in :

(A) Jodhpur (B)
(©) Jaisalmer (D)

Jaipur
Ajmer

(E)  Question not attempted

P.T.O.



22.

23.

24.

25.

26.

THRER Bt 9l % Ty § frefetaa § ¥ #e an
HAT e AR & ?
(A) T T I TBRIER H HATE 2722 Fe B

(B)  TE IRTTCH TdqHTAT B! T Sl AT B

(©) g AT TdTHTAT Bt T ST =it F o
A

(D) e faeel g 7 Rra 2

(B)  rIaRa wed

% 60,000 T I TBe qF o ToTT 4% T ST T I T
9 & TTT 5% HT I T Thglg AT U IR ol T

ST & 37 H T TG AT

(A)  T5520 (B) 6220

© ¥5820 (D) 5420

(B) rIaRa ued

FEAAT BT ARTHR ATTIH-2005 F T&d b= TR
< TT TN < TS BT I & 2

(A) 3 (B)

©
(E

D) 2

4
ITART 99

frfaRad & & S -5 T e S i ferer
9T & F U A T JST TR ATgerat Ht

~

et 3T srvrat W Hfea ¥ 2
(A) e (B)  ufwaTiy/ utorert
© +#i= (D) =T

(B)  3rgana ued

TR & FH UTd i Bl 2025 H Hiigd 31
T3180T & &1 § 37 AN & fTU ot ot ¥ IR
fparEn® ?

(A) T EIA

(B)  ofiF i fastH
Q)  HIEA AT =R
(D)  SSTATY HERTS

(B)  3rqaRa e
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22,

23.

24.

25.

26.

Which of the following statements is not correct
regarding the peak of Gurushikhar ?

(A) The height of Gurushikhar is 2722 metres
from the mean sea level.

(B) Itis the highest peak of the Aravalli range.

(C) Itis higher than the highest peak of Satpura
range.

(D) It lies in the Sirohi region.

(E)  Question not attempted

A sum of ¥ 60,000 is borrowed on compound
interest at the rate of 4% p.a. for the first year and
5% p.a. for the second year. The compound interest
payable at the end of two years is :

(A) 5520 (B) 6,220
(© %5820 (D) 5420
(E)  Question not attempted

The Right to Information Act-2005, mandates the
constitution of how many types of Information
Commission ?

(A) 3 B) 5
© 4 D) 2
(E)  Question not attempted

Out of the following, which Rajasthani folk genre of
music that specifically focuses on the emotions and
experiences of Rajasthani women related to fetching

water ?
(A) Qawwali (B) Panihari
(©) Maand (D) Khayal

(E)  Question not attempted

Which of the following renowned poet from
Rajasthan, received the Padma Shri in 2025 for his
work in Literature and Education field ?

>

(A) Begum Batool

(B)  Sheen Kaaf Nizam

(©) Mohan Lal Kumhar

(D)  Baijnath Maharaj

(E)  Question not attempted



27.  TSTRATH H 31U WebTT BT W “TicTehT Af+ieh et
el I T fepar StraaT ?
(A) FesiteTe (B) B
Q) SER (D) 3FIR
(BE) 3TIaRa wed
28.  ‘Hfear At H T Wew ToRuE F
TrrTTetiEd # o Fope 8 9 Hata 2 ?
T forg aTw faepedt # W WO IUGT IR HT AT
G
(A)  aTEER (B) 3t
(©) HFTR (D)  ter
(B) STIaRa ued
29. 2011 Tt STAOAT % AR, TTAT H 10 TG F FH
STEEHT ATl T o
(A)  SHAH, TATIG
(B) fawrE, §=t
©  Fad ITTHT
(D) helel FeATaTE
(B) TIaRa ued
30. Y1911 H TSTRATA § Y TR S 6 HIGR BT qAAH0T
frferiaa & o fTopee s o ?
(A) WERTSTIFE g
(B)  WERTST T g
(©) wERT A 98
(D)  WERTST waTE 519 fag
(B)  TIaRa wed
3. WA W T HI9-TT TS FATTh STTRT
& TR BT ST ST R ?
(A) FIT=T-51A  (B) IFIWI-14
€ IFTHT-32 (D)  3TT=T - 19
(B)  3raRd e
&% 56HH 7

27.

28.

29.

30.

31.

Where is the first of its kind ‘Balika Sainik School” is
to be established in Rajasthan ?

(A) Chittorgarh (B) Bikaner

(©) Jaipur (D) Udaipur

(E)  Question not attempted

The ‘phetia’ style of hand-block printing is
associated with which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the

options provided below :
(A) Barmer (B) Akola

(C) Sanganer (D) Kota

(E)  Question not attempted

According to the 2011 Census, which of the
following districts of Rajasthan had a population of
less than 10 lakh ?

A) Jaisalmer, Pratapgarh
B)  Sirohi, Bundi

(

(

(C©)  Only Jaisalmer
(D)  Only Pratapgarh
(

E)  Question not attempted

Who among the following reconstructed the temple
of Shri Goga Ji in the year 1911 in Rajasthan ?

A) Maharaja Umed Singh
B)  Maharaja Ganga Singh

(

(

(C) Maharaja Man Singh

(D) Maharaja Sawai Jai Singh
(

E)  Question not attempted

Which of the
Constitution guarantees the Right to Constitutional
Remedies ?

(A) Article-51 A (B)

following article of Indian

Article - 14
(C©)  Article - 32 (D) Article-19

(E)  Question not attempted

P.T.O.



32.

33.

34.

35.

frffad § o &9 O g8 wenid Tore #
T 915 AT 8, Wb Ug Io9 $I 2
(zrritar) sl TRt & 2

(A)  gAfeaT

(B)  TaeTTIdt HiwT
Q) ot
(D)  igT/H%e BIHT

(B)  3rqaRa wed
T 7T qT$-=TE BT AT 1T B SR T BT

TSI

i1 ferarm T 9 A g S-S Wl # o
TRTIT Tt Poof HGAT BT WAL feraeor gerfar 2 |

Y THAT H FoT THATHT T FHT = 8400 |

IS THeT | # TehTa 1 ol TSI 1820 T, AT Thel F BT
AfEeT ¥HH, ¥ B F A TOW FHAT ¥ Fha-T
AT FAE ?

(A)  89% (B) 75%

Q)  66.66% (D)  81.66%
(B) TIaRa ued

SATE ST RAh! FET S Y ?

(A) et &t (B) TR &t
(© = e (D) ot et
(B)  3raRd 99

HEX + 3T aXL AT T 450 3 T 1,050 H @WIAST |
I TR T 16% ATH & T IR FELY T 10%
FTT & |TT a9 | 3/ AR e H IHBT ATH 37T
RIBRIGECRIcETY

(A) =T, 2.2% (B) &, 6%
© «m™,25% (D) =1, 6%
(B)  3raRd e

&% 56HH 8

32.

33.

34.

35.

Which of the following tree species is commonly
found in Rajasthan, but is not native to the state ?

(A) Kumatiya

(B)  Vilayati Kikar

(©) Dhau

(D) Raunjh/Safed Kikar

(E)  Question not attempted

Study the following Pie Chart carefully and answer
the question :

The Pie Chart given below shows the percentage
distribution of the total number of male faculties in
six different schools.

Total male faculties in all schools together = 8400

If the total number of faculties in school F is 1820,
then female faculties in school F are what
percentage less than total male faculties in school
B?

(A)  89% (B)
(C) 66.66% (D)
(E)  Question not attempted

75%
81.66%

The Jawai River is a tributary of :
(A) Chambal river (B)
(©) Banasriver (D)

Gambhir river
Luni river

(E)  Question not attempted

Madhur bought two items for I 450 and I 1,050
respectively. He sold the first item with 16% profit
and the second item with 10% loss. Find his profit
or loss percentage in the whole transaction.

(A) Loss, 2.2% (B) Profit, 6%

(C)  Profit, 2.5% (D) Loss, 6%

(E)  Question not attempted



36.

37.

38.

39.

40.

41.

MS PowerPoint 7 TS T &l IRH H & FIA &
ToTT HI-3 QTS Hott TN § ATE AT & 2

(A) F7 (B) Fl

© (D) F5

(B)  3rgaRd e

TS & UUH I § YARMS-I + fhy qwifera
TemaT 2

(A) T8 TR

(B)  HeEHg TSl

Q) wEEE TR

(D) &g HIIA

(B)  3raRd 9o

frferiad & & fpaeT sugi, gee W Tt
Hegex i fafitse agam & forg fpar s g 2

(A)  TEHTEH (B) IIRTA

© @ (D) S

(B) SrIaRa ued

ST T TSAE 2025-26 F TN, T Bl FATH
THIF eI (MSP) W 99 WY GA® fhed WX
=t B 3

FT IH UST TBAT

ST |

(A) 200 (B) 175
© 125 (D) 150
(B)  3raRd e

frfefad #§ ¥ wRa &1 92T Fad-% 3T d
FAATE ?

(A)  swrer 3 (fsrsT) (B)
© stEgHg (=) (D)
(B)  rIaRa wed

TE TSR T STt TATE ot 7% T2 Aifeer 7 o7
A E

(A) W EEIE™ (B)
© SgARETST (D)
(B)  3raRd e

v (forsn)
RREREAER)

€T WA ST
SECRICIS)
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36.

37.

38.

39.

40.

41.

The shortcut key to start a slide show from the
beginning in Microsoft PowerPoint is :

(A) F7 (B) F1
(©) F3 (D) F5
(E)  Question not attempted

Whom did Prithviraj-III defeat in the First Battle of
Tarain ?

(A) Shah Alam

(B) Mahmud Ghazni

(©) Muhammad Ghori

D) Muhammad Qasim

E)  Question not attempted

Which of the following is used to uniquely identify
a computer on the internet ?

(A) IP Address (B)
(©) Host (D)

URL
Domain Name

(E)  Question not attempted

According to the Rajasthan State Budget
2025-26, a bonus amount of I will be
provided to farmers for every quintal of wheat sold
at MSP (Minimum Support Price).

(A) 200 (B) 175
(©) 125 (D) 150
(E)  Question not attempted

Which of the following is India’s First Cable-Stayed
rail bridge ?

(A) Bogibeel Bridge (B)
(C©)  Anji Khad Bridge (D)

Pamban Bridge
Chenab Bridge
(E)  Question not attempted

The Rajasthani Saint whose writings are also
included in the Shri Guru Granth Sahib is :

(A) SwamiSwarupdas (B) Dhanna Bhagat Ji
(©) Devnarayan Ji (D) Dadu Dayal Ji
(E)  Question not attempted

P.T.O.



42,

43.

44.

45.

46.

el ® F et Tt Tt @t BrE-Tg-wiue
T-3p Mg THATSA BT AT FATE ?

(A) 3| (B) A THFH?2

(C) AmTUHF?2 (D) 3THILTTAF 2

(B)  3rqaRa e

TSTRAT BT T8 {1 ST qTTpT F | T Biey
AT AT AT HATE, B

T faw Ty fapedt 7 & HE¥ SUGER TR BT AT
B

(A) PR

(B) TR

(C) AR

(D) T

(B) SrIaRa ued

I TSTRATHI T/ T b Terert &1 71 aargy, s
(A)  fera (B) aratT®

© ga (D) ot

(B)  3raRd e

T §¥6R gRT 9 TRT JiSHT & dgd
AT 7t % fTT -7 318 AT 8 ?

(A) mefETfPUgTEE (B) I I3
©) DFRITRRIAE (D) TR HTIA
(B)  3raRd 99

I el W haod-&& forst qRIIS=T H1 =i
TR # fetangg ¥ ¥ 69 U TeTEET 1)
fepa T o ?

(A) NH-76 (B) NH-57
(C) NH-218 (D) NH-968
(B)  3raRd 99

&% 56HH 10

42,

43.

44.

45,

46.

What is the name of the indigenously developed
third generation Anti-Tank, Fire-and-Forget guided

missile ?
(A) Amogha (B) AgniMk2
(C©) NagMk2 (D) Akash Mk 2

(E)  Question not attempted

Which of the following districts of Rajasthan shares
the shortest International border with Pakistan ?

Choose the most appropriate answer from the
options provided below :

A)  Bikaner

B) Ganganagar

D Barmer

~

(
(
(C©) Jaisalmer
(
(

E)  Question not attempted

Name the genre of Rajasthani prose/poetry in
which the texts are written in “Velio” verses :

(A) Vigat (B) Vachnika

(©)  Jhoolna (D) Veli

(E)  Question not attempted
Under the Panch Gaurav Scheme, which product

has been selected for the Sriganganagar district by
the government of Rajasthan ?

(A) Embroidered (B) Wheat flour
textiles

(C©) Kota stone (D) Mustard oil
products

(E)  Question not attempted

The cable stayed Bridge Project over the Chambal
River was constructed on which of the following
National Highways in Rajasthan ?

NH-57
NH-968

(A) NH-76 (B)
(C©) NH-218 (D)
(E)  Question not attempted



47. IO ¥ ETEREd W # A FHEl o o
HATAT ZRT “Water Vision @ 2047 - Way Ahead”
TUTs U IEE WRAE T HEA TR
3MtSTe e T o ?
(A) 3T (B) s
©) S| (D) IR
(B)  rIaRa wed

48.  ““TIER WEg AeAw TgEng aREieEr e |

TE R TS TS B

(A)  STEH (B)  THAT
©) g (D) et
(B)  3raRd wed

49. 3 UTTRR ST TG Tadt bt <“ugett’” fopers
ST Tt TS o FHETT ““GTe’” o MR & ?
(A)  RTRSTT =" (B)  ferstaama dur
(©) werdg faardt (D) g fasror
(B)  3raRd e

50. WA W FOET (2011) F ITA, 2001 H 2011 TH
TSI & TR STel § STAET § g9 1 Uiad - &7
LT Tarer 1feres T ?
(A)  SEQR (B) IWTHY
(©) ST (D) ST
(B) rIaRa wed

&% 56HH 11

47.

7| 48.

49.

50.

In which of the following places of Rajasthan,

Ministry of Jal Shakti organized the 21 All India
State Minister’'s Conference on “Water Vision @
2047 - Way Ahead” ?

(A) Ajmer (B) Jaipur

(C) Jaisalmer (D) Udaipur

(E)  Question not attempted

The “Sardar Samand Medium Irrigation Project” is

built on the river in Rajasthan.

(A) Jakham (B) Kakni

(©)  Sukri (D) Parbati

(E)  Question not attempted

The Hindi Film “Paheli” directed by Amol Palekar,
is based on the short story “Duvidha” written by :

(A) Girija Vyas (B) Vijaydan Detha

(©) Malchand Tiwari (D) Suryamal Misran

(E)  Question not attempted

According to the Census of India (2011), which
district of Rajasthan had the highest percentage of
decadal change in the population from 2001 to
20117

(A) Jaipur (B) Jaisalmer
(©)  Jodhpur (D) Barmer

(E)  Question not attempted

P.T.O.



51.

52.

53.

54.

55.

56.

TrAfTRad 7 I AT FhaT 7 ISTEX0T & ?

(A) &= (B)  gfugrn
(© =g (D) gtgr

(B) A e

“GRITTE” 9T T W -forg BT

(A) g+ ommEd (B)  Jar+9TA
©) TE+IEA (D) T +mEA
(B) 3raRd e
ATt # & 3T eTsT 2 -

(A)  3fwY (B) WierR
© fE=Et (D) Fag#Ha
(B) 3raRd 9o

TerAfoTiaa & & 9fter oTe T UaTIaTat 3 & ©
(A)  ¥aq (B) w@Ra

© fase (D)  awHA

(B)  Irgand e

“TTHTOT 9TeF H Y T R :

(A) o (B) o

© g7 D) &

(B)  Irgand e

T=fRad ¥ ¥ $i9 IRAEES 9 7
ISTEATE ?

(A) TEEERAl@ (B)
(©) i feparer (D)
(B)  Irgand e

EES RG]
EECGR eI

57.

58.

59.

60.

61.

TATeTiEd # ¥ Y[& TT99 BT =9 HITT
(A) TG IS TE HTH FE & ST |
(B) & 3raey & ST |

() H3IHT AT HIATE |

(D) &AW T&l Tagaehi BT TGT BT 37T Tarer
Z|

(B) 31 aRd e

TR ITE H ST R :

(A frea B f
© (D) fz
(B) 3raRd 9=

TRt TR QY I 3 A HI gEST AT F
fore st et &

(A) Tl (B) 3
©) gmTd (D) ferer
(B) 3raRd e
frferiaa & & 31 fagere s & & 2
(A) TSt (B) @™

(©)  3rETerd (D) =g

(E)  argaid ued

frfafea et & @ S GraarEs 99T #®5

ITETITAR &2

(A)  FHATE! BT AT UL |

(B)  GRTUTSIIG HI B ITaATE |

(©  THERaHT fEat wfed ®t sruw iy
Z|

(D) TEATSHaTHTIAHE |

(B)  SraRd e



62.

63.

64.

65.

“BASIS’ T 31 FTE ? W IUYT (I I |

(A) TP (B)  3MuR
© = (D)  emrET
(E) 3rganrd e

“qTp + ST’ BT AT BRI -

(A)  arerTTeT (B)  AmSIA
©) awIT (D) araTe
(E)  argand ued

frrefefaga # I aeaw et ¥

(a) T

(b) TeE=

(© B

(d) 9%

() EIST

T T T Taepeat # & T ST 3% HT 994
BT :

(A) FAA ()3 (e) (B) FHaA (b) 3 (e)
(C) FaA(a)3M(d) (D) FHaAA (c) 3 (b)
(E)  Sraid ued
TrATeTREra | o & e BT U BT :
(A)  w= (B) AR

© gfe D) T

(E)  Sraid ued

&% 56HH
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66.

67.

68.

69.

70.

T 3T T I A & & e

(A)  =THIOTE &A1 (B) WIS WIS AT

(©)  3rvgar (D) faawiwt
Jeedr

(B)  SraRd e

frferiaa § agua a=

(A) 3T (B) w1®

© == (D) 3m™

(B)  3STaRd 9ed

fr=fega T ¥ 9 TAoaes 999E &0

IITETUTHIA TE ?

(A)  H T AT |

(B) ST SIS QAT & T& FHHT 3 &l I [T |
©) FEEETH

(D) == E &Y, T 37 |

(B)  3rgand e

“HTSI TS ST HETaX FTHT L

(A)  FIATICT BT AT BT

(B)  gEaeftEmT

©  sgr-=gTR BT

(D) =xof &t fermr-u<t =T

(E)  SraRa usA
“Fhm’ g BT R R
(A) WPl (B)  SToTpfern
© = (D) T
(B) 31 aRd e
P.T.O.



71.  Choose the most appropriate option to convert
the following sentence from Direct Speech to
Indirect Speech :

Vineet said, “Let us watch a movie today.”

(A) Vineet recommended they watch a movie
that day.

(B) Vineet suggested they could go for a
movie today.

(C)  Vineet suggested that they may watch a
movie that day.

(D)  Vineet suggested that they should watch a
movie that day.

(E)  Question not attempted
72.  For the Assertive Sentence given below, choose
the most appropriate Exclamatory Sentence
from the options provided :
It is very sad that her mother is no more.
(A) Her mother has been no more!
(B)  Alas! Her mother is no more.
(C©)  Oh! Mother is no more.
(D) Her mother was no more!
(E)  Question not attempted
73.  Choose the most appropriate option to translate
the given sentence from Hindi to English :
FTRRT = WHT AT T I THE W 7 2 4T
(A) This rain will only stop after it has
destroyed all the flowers.

(B)  Ohno! The rain is ruining my flowers.

(C) The rain completely destroyed all the
flowers.

(D) The rain has destroyed some of my
flowers.

(E)  Question not attempted

& 56HH
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74.

75.

76.

77.

78.

Complete the given sentence by choosing the
most appropriate answer from the options
provided :

It never occurred the traffic police to

ask the erring driver a proof
his identity.

(A) to, with, from (B) to, for, of

(©)  with, to, with (D) by, from, by

(E)  Question not attempted
Choose the option that correctly identifies an
error in the given sentence :

“I am not on speaking terms with Anisha,” say

Sana.
(A) saySana (B) Iamnoton
(C) speaking terms (D) with Anisha

(E)  Question not attempted
Which of the the

transformation of the given Interrogative

following is correct

Sentence into an Assertive Sentence ?

Was he not a villain to do such a deed ?

(A) He was a villain to not do such a deed.
(B) He was not a villain to do such a deed.
(©) He was a villain to do such a deed.

(D) He was not a villain to not do such a deed.
(E)  Question not attempted

Select the most suitable option to fill in the blank
in the following sentence :

I spent money I had.
(A) the few (B)  the little
(©) any little (D) little

(E)  Question not attempted

Choose the option with the wrong use of

punctuation(s) :

(A) If you stab him, he will die.

(B) Imet him in the auditorium.

(C)  She said to me, “When I met him, he was
playing.”

(D)  Go back, Parth shouted.

(E)  Question not attempted



79.

Convert the following sentence given in Active
Voice to Passive Voice :

Where did she find this key ?

(A) By whom was that key found there ?
(B)  She was the one to find the key ?

(C)  Where was this key found by her ?

(D)  The key was found somewhere by her.
(E)  Question not attempted

80.  Choose the most appropriate English word for
the Hindi word given below :
(A) Manuscript
(B)  Original
(©)  Duplicate
(D)  Substitute
(E)  Question not attempted
81.  Choose the most appropriate tense of the given
verb from the options provided in order to
complete the given sentence :
She this gymnasium for the last two
years and has no plans of partnership.
(A) hasbeenrunning (B) runs
(C©)  will have run (D) hadrun
(E)  Question not attempted
82.  Which of the following is the correct
transformation of the given Assertive Sentence
into a Negative Sentence ?
I am satisfied with the way things are
progressing.
(A) I am not satisfied and things are not
progressing.
(B) Iam not satisfied with the way things are
progressing.
(C) Things are not progressing and that
makes me dissatisfied.
(D) I am unhappy that things are not
progressing.
(E)  Question not attempted
& 56HH

15

83.

84.

85.

Choose the most appropriate Hindi translation
of the given sentence from the options
provided :

Will you do me a favour ?

(A) T TR FHUT FT TR BRI ?
(B) T FZT X TEATH HIAT ?

(©) =T 3T T X TEHTH AT ?
(D) =T 3MY A AGE B ?

(E)  Question not attempted

Fill in the blanks in the given sentence by
choosing the correct words from the options
provided :

It is very that you are by the
advancement India has made in the last five
years in science and technology while you were
away from the country.

(A) add, owed (B) awed, odd

(©) odd, add (D) odd, awed
(E)  Question not attempted
Choose the most suitable article from the

options given below in order to complete the

given sentence :

He has equipped himself with MBA
degree.

(A) any (B) an

<G a (D) the

(E)  Question not attempted

P.T.O.



86.

87.

88.

89.

90.

AT = T T WIIST 3T IH 10% ATH & QT 3ifehd
1 3= fea | Sifpa A W 5% W & AT =Fad B A
oo | =fg == 7 39 a%q & fo7U T 1,386 THIC, aF

A = T8 %] Fha+ H ERIET o ?

(A) 1,240 (B) 1,150
© T1,200 (D) T1,225
(B) 31 aRd e

TERATE | ‘Ao 39’ Fhe & amaitsta e
ST e ?

(A)  IEER (B) dHER
©) d=r (D) 3w
(B) 31 aRd A

HLO HAT BT A TSRAT & Bellar & Hbe
frteTRa & ¥ o Tt & gam o ?

(A) TR (B) qam@
©) THR (D) T
(B) STIaRa ued

fereferiad # A #19-97 U e feagy (3fR)
TEE?

(A) gdroH (B) T S Hifex
©) simfenfaes (D) FEg
(B)  3raRd e

270 TFHT BT T R F TT FIA H, TH DI 9T
2 He BH T & | Tfe 79 1 A, BR B I BT 60%

2, A R HI T (FFt /T H) 7
(A) 90 (B) 80
) 85 (D) 75
(B)  3raRd e
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86.

87.

88.

89.

90.

Sunil bought an item and sold it with 10% profit to
Ankit. Ankit sold it with 5% profit to Chetan. If
Chetan paid 1,386 for the item, then for how much
Sunil bought the item ?

(A) T 1,240 (B)
© %1,200 (D)

31,150
31,225

(E)  Question not attempted

In which region is the ‘Matsya Festival’ held in
Rajasthan ?

(A)  Ajmer (B) Bikaner

(C©) Bundi (D) Alwar

(E)  Question not attempted

In which of the following village was Karni Mata
born near Phalodi in Rajasthan ?

(A) Khimsar (B) Suwap

(©) Ranakpur (D) Ringas

(E)  Question not attempted

Which of the following is not a hardware device ?

(A) UPS (B) LCD Monitor

(©) Operating System (D) CPU

(E)  Question not attempted

To cover a distance of 270 km by car, it takes
2 hours less than that by bus. If the speed of the bus
is 60% of that of the car, then the speed of the car (in
km/h)is:

(A) 90 (B) 80
(C) 85 (D) 75

(E)  Question not attempted



91.

92.

93.

94.

MS Word T TR T ATdedaR & ?
(A)  TeamEd g

(B) UM% AiHedaX

C) Tew Afreaer

(D) gfefact wiveaa
(B)  3rqaRa e

TS T TSI T F AATNEG BT T et
HATE TR FIATE ?

(A) TSl PorgeT

Q) 3= T % TTT FTIATENT

(D) 1T IE T

(B)  3raRd e

Freferiad & ¥ Fi9 W T TSR F el I81
FAHIMIE ?

= T T fpedt 7 o FEE ITGHR I BT AT
e

(A) IR, AR,
(B)  dgt, e, HA!

©) AN, IF, {H

(D) =i, ISR, ARAIX
(B) STIaRa ued

TTaREd o ¥ BiF-9T TTRATT &1 9 TaT B
TS HeTep N 3 R W s fiaa s ag o st &
Heh A B &, 3R o o9 v Afgerd gt
TR HIA & ?

(A)  THH (B)

(©) aREar (D) =

(B)  3rqaid e

&% 56HH 17

91.

92.

93.

94.

MS Word is a type of :

(A) Device driver

(B)  Application software
(C)  System software

(D)  Utility software

(E)  Question not attempted

The Governor of a state appoints the Council of
Ministers of that state on the advice of the :

(A) District Collector

(B)  Chief Minister

(C)  Chief Justice of High Court
(D)  Union Home Minister

(E)  Question not attempted

Which of the following places come under the
Hadoti Plateau region of Rajasthan ?

Choose the most appropriate answer from the
options provided below :

(A) Barmer, Jalore, Sirohi

(B)  Bundi, Kota, Karauli

(©) Nagaur, Churu, Sikar

(D)  Tonk, Ajmer, Bharatpur

(E)  Question not attempted

Which of the following folk dance forms of
Rajasthan balancing multiple

pitchers or earthen pots on the dancer’s head, and is
performed by both men and women ?

involves brass

(A) Chakri (B) Gair

(C) Terah Taali (D) Bhavai

(E)  Question not attempted

P.T.O.



95.

96.

97.

98.

99.

TRt | BT 75%, 75 | STIg- U¥ TR T8 =T
IMATE | TETEATE

(A) 280 (B) 316
(€ 300 (D) 260
(B)  3rqaRa e

TSR BT W “7rer”?, {5 2021 # Aiie
TS BT AT, o g fert mam o ?

(A) T GUR
(B)  wrerer Forwtar
Q) HEITE HieaT
(D)  #Hrd STEel

(B)  3raRd aed

frfetiEd o 3 #1991 AT-URa Sferary aRkads

T UcTeT IIROTH AEC 2 ?

T g 7T fapedt # ¥ T SUgE SR HT A

B

(A) wHAl H Fle FHAU F AT TE TS
TGN BT STRIH

(B) T 3R W H NG A TG

©) fEd AE-TR A TG
(D)  USATTrt % TaeTwd B 1 STNEH FHH g7
(B) 31 aRd e

~

T TocldTST o 79T 1891 IR | 92 T7 ITC THaw
ITHT AT 1.5 TT I TAT| 1891 IR & T1E ITBT
AT FTE ?

(A) 905 (B) 65
© 665 (D) 74
(B)  TIaRa wed

TR Trem @97 (2025 S F IER) H oA
fpat @ 2 ?

(A) 195 (B) 250
(© 200 (D) 180
(B)  argand e

&% 56HH 18

95.

96.

97.

98.

99.

Upon adding 75% of a number to 75, the result is the
number itself. The number is :

316
260

(A) 280 (B)
(© 300 (D)
(E)  Question not attempted

The Rajasthani poetry collection “Mugtee”, which
won the Sahitya Akademi Award in 2021, was
authored by :

(A) Sonali Suthar
(B) Meethesh Nirmohi
(C©) Kanhaiyalal Sethia
(D) Mangat Badal

(E)  Question not attempted

Which of the following is not a direct consequence
of human-induced climate change ?

Choose the most appropriate answer from the
options provided below :

(A) Increased risk of crop susceptibility to pest
infestation

(B) Increased frequency of heatwaves and

droughts

(C©) Rise in mean sea-level
(D) Decreased risk of species extinction

(E)  Question not attempted

A batsman in his 18" innings makes 92 runs thereby
increasing his average by 1.5 runs. What is his
average after the 18t innings ?

(A) 905 (B) 65

(©) 66,5 (D) 74
(E)  Question not attempted

What is the total number of seats in the Rajasthan
Legislative Assembly (as of June 2025) ?

(A) 195 (B)
(© 200 (D)
(E)  Question not attempted

250
180



100.  fopg MO A “HETET-U-gAL” I TIHAT HI o,
TSI 37T TSI T 31 31 B AT § AT AT
z?
(A) TS S E
(B)  Harg e g
(©)  HERTST |aTg T W2 11
(D) warg wrent e 1
(B) rIaRa wed
101.  GfSd STATERATE "&® FIT TSI F HIF 5T BT
IS B BT ITTT AT ?
(A) 18 378eT, 1948 (B) 1773, 1949
© 207, 1949 (D) 22 37, 1948
(B)  3raRd 9o
102. 9 I ‘TeAld’ FEET  HEARET 9§ 9 R
T & A ST S ?
T f3T Ty fospedt # ¥ W UG ST BT A
B
(A) U (B) =T
© ar (D) w3t
(B) TIaRa ued
103. i gt %%Z ¥ I ¥ ¥l gt & we
ST AT T BioT ST H 31d¥ 36 2| ST a1 & qay
e TR
(A) 60 (B) 54
© 72 (D) 24
(B)  3raRd e
104.  THATARET § § P TR F FOH o TAT dF
TAT I AT AT T8 & (2025 TF) ?
(A) W gETeaT
(B) 313 eI
©) ATaE dETad
(D) BRI &
(B) rIaRa wed
&% 56HH 19

100.

101.

102.

103.

104.

Which ruler established the “Madarsa-E-Hunari”,
which is presently known as the Rajasthan School of
Art?

(A) Sawai Jai Singh

(B) Sawai Pratap Singh

(C) Maharaja Sawai Ram Singh I1
(D) Sawai Madho Singh I

(E)

Question not attempted

When was the United State of Rajasthan

inaugurated by Pt. Jawaharlal Nehru ?

(B)
(D)

(A)
©
(E)

18 April, 1948 17 May, 1949

20 March, 1949 22 April, 1948

Question not attempted

The musical instrument ‘Khadtal’ is typically made
using which of the following materials ?

Choose the most appropriate answer from the
options provided below :

(A) Cloths (B) Leather
(C) Strings (D) Wood
(E)  Question not attempted
2 1 3

Three numbers are in the ratio . The

2 4
difference between the greatest and the smallest of
these numbers is 36. The smallest of the three
numbers is :
(A) 60
< 72

(E)

(B) 54
(D) 24

Question not attempted

Who among the following has been the longest
serving Chief Minister of Rajasthan (as of 2025) ?

(A) Mohan Lal Sukhadia

(B)  Ashok Gehlot

(C©)  Bhairon Singh Shekhawat
(D) Heera Lal Shastri

(

~

E)  Question not attempted

P.T.O.



105.

106.

107.

IMHAR OX qTEAT § G @ el 4T

(RaR-=g TR % &9 & S92 fomaT STTm &, a1 s
HT 2 ST ST FH |
(A)  FHAA-37ade guor (B) @A 90T
(©) T gUwr (D) wHdeT U
(B)  3raRd e
frfetfaa srfwfsear wefieo (= - 1) &7 9%
IO TATRAT TR (YT - 2) & W A=
B

T -1 T -2

(STTHTsHaT |IHI) EREIES
ThR)

@) | C(s)+Oy(g) > (i) | T faeem=
COx(g) rrafepaT

®) 1 cacoye) 2 | @ SRR
CaO(s)+COx(g)

(c) | Pb(s)+CuCly(aq.) (iii) | 3rqEeH
—PbCl,y(aq.) 1T feraT
+Cu(s)

(d) | NaySOy(aq.)+BaCl, | (iv) | faeema=
(aq.)—>BaSOy(s) T TemaT
+2NaCl(aq.)

T T foheat # o WE SR A -

(A)  (@)-@), (b)~(iv), (c)-(ii), (d)-(iii)

(B)  (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

©  (a)-(i), (b)-(iii), (c)-(iv), (d)-()

(D) (a)-(i), (b)-(iv), (o)-(iii), (d)-(i)

(B)  3raRd aed

A 3T B fetere fpeit e 1 120 TS A BT O & B
3R C eIt ST B &1 90 T5 H FT Tohd &; TATh
A 3R CTHEH 3T 72 TG A T T £ 1975 A, B3R
C THEHT T B, A I [hd- 1S | ST HTH Bl BT
T & ?

(A) 47 (B) 66

©) 56% (D) 60

(B)  3raRd e

&% 56HH 20

105.

106.

107.

is generally used as a rear-view mirror
in vehicles, to see the traffic behind them.

(A) Plano-concave (B) Concave mirror
mirror
(C©) Convex mirror (D) Plane mirror

Question not attempted

Match the following reaction equations (given in
List-1) with their appropriate type of reaction
(given in List-2) :

List-1 List-2
(Reaction (Types of
Equations) Reaction)

(@) | C(s)+On(g) » (i) | Double
COy(g) Displacement

Reaction

(b) CaCO5(s) A (if) Comb.ination

Reaction
CaO(s)+COy(g)

(c) | Pb(s)+CuCly(aq.) (iif) | Decompo-
—PbCly(aq.)+ sition
Cu(s) Reaction

(d) | NaySOy(aq.)+BaCl, | (iv) | Displacement
(aq.)>BaSOy(s) Reaction
+2NaCl(aq.)

Choose the correct answer from the options
provided :

(A)  (@)-(), (b)-(iv), (c)-(i), (d)-(iif)
(B)  (a)-(iti), (b)-(ii), (c)-(iv), (d)-(0)
(©  (@)-(i), (b)-(iii), (¢)-(iv), (d)-(0)
(D) (@)-(ii), (b)-(iv), (¢)-(iti), (d)-(1)
(E)  Question not attempted

A and B together can do a work in 120 days; B and
C together can do it in 90 days; whereas A and C
together can do it in 72 days. If A, B and C work
together, then in how many days can they do the
work ?

(A) 47 (B) 66
1

© 565 (D) 60

(E)  Question not attempted



108. “¥e e W’ URAST B IS F
Trferiaa & 9 Tope w=feord ¢y & e weet 97w foharm
T AT ?
(A)  TOTHIY ST e
(B) SIS ALHA I
(©) AT BT T I
(D) AT TG THIRT
(B)  3rqaRa wed
109. SR I Wi AgH! BT A AT, TTa 5 1947
H TEATIT TSI % ST TETEd U o |
(A) RS (B)  eeitarg
(©  wrrETg (D) wgHtTg
(B)  3raRd 99
110. TR # g9 TER ey’ fefaiad § 9
o g 9 Rerar & 2
T f3T Ty fospedt # ¥ W UG ST BT AT
B
(A)  STAR (B) =i
© fadtere (D) A
(B) TIaRa ued
111 I HSATE 2 : 3 % I # & 3T ITHT LCM 216 2|
T ST BT AN FATE ?
(A) 30 (B) 36
(C) 180 (D) 216
(B)  3raRd e
112, e & fecramer S e fpg g A ot e ¥ 2
(A)  FATIRT (B) S I3MIRR
© whewmEER (D) I
(B) 3TIaRa ueA
&% 56HH 21

108.

109.

110.

111.

112.

Project “Great Indian Bustard” was first launched in
which of the following protected areas of
Rajasthan ?

A) Ranthambore National Park

B)  Desert National Park

Keoladeo Ghana National Park

D) Sorsan Wildlife Sanctuary

E)  Question not attempted

Name the Bhil girl of Dungarpur, who attained
martyrdom during the Rastapal Agitation, in June
1947.

(A) Hirabai (B) Kalibai
©

(E)

Motibai (D) Laxmibai

Question not attempted

In Rajasthan, the “Van Vihar Sanctuary” is located
in which of the following regions ?

Choose the most appropriate answer from the
options provided below :

(A) Udaipur (B) Baran
©

(E)

Chittorgarh (D) Dholpur

Question not attempted

Two numbers are in the ratio 2 : 3 and their LCM is
216. What is the sum of the numbers ?

(A) 30 (B) 36
(C) 180 (D) 216
(E)

Question not attempted

The Dilwara Jain Temples in Sirohi have been
carved out of :

(A)

Limestone Sandstone

(B)
© (D)

(E)

White marble Granite

Question not attempted

P.T.O.



113.

114.

115.

116.

117.

ARA HI FAOET (2011) F IAR, TERAE &
TrTeTRa TSttt ® & fpeH AfeaT H1eRar &% qad
FH AT ?

(A)  F@ER (B) =&
©) EIATEG (D) e
(B)  Irgand e

TS Ft {qem T9T &7 5 a9+ & fou srasgs
AT A E

(A) 3T (B) 18¥ W
(© 25 (D) 28ad
(B)  3rgana ued

Q:ﬁ%‘r(x_y) : (x+y)=3:5%,ﬁ(zx2+y2) . (4x2—y2)
AT B

(A) 13:63 (B) 1:1
© 11:21 (D) 33:61
(B) STIaRa ued

TR § & 19 T &7 (Cholera) F THR HT
DT AT & ?

(A)  zaTH HIgE fagHT & AT |
(B)  HepTHT T & WY U | 37T
©) H=T BT

(D)  Sua dTT T HaA

(B)  3rfanad wed

WA Hq™ & g § “qqean’’ 3T
“erAfeger’’ ores fpe HeNU ERTSR T o ?

(A)  73at (B) 24t
(© 447t (D)  4oat
(B) rIaRa wed

&% 56HH 22

113.

114.

115.

116.

117.

According to the Census of India (2011), which of
the following districts of Rajasthan had the lowest
female literacy rate ?

(A) Jalore (B) Churu
(©) Hanumangarh (D) Jaisalmer
(E)  Question not attempted

The minimum age requirement for becoming a
member of the State Legislative Assembly is :

(A) 32years (B) 18years
(C©) 25years (D) 28years
(E)  Question not attempted

If (x—y): (x+y)=3:5, then find
2x2+y2) : (4x2—y?) :

(A) 13:63 B) 1:1
© 11:21 (D) 33:61
(E)  Question not attempted

Which among the following is a primary mode of
transmission for Cholera ?

(A) Airborne droplets

(B)  Direct contact with infected person
(©)  Mosquito bite

(D)  Consumption of contaminated water
(E)  Question not attempted

Which amendment added the words ““Socialist”

and “Secular” to the Preamble of the Indian

Constitution ?

(A)  73rd (B)  24th
(©  44th (D)  42nd
(E)  Question not attempted



118.  ue =feR o T 25,000 HT LT ST AW H FTLOT <ITST | 118.
T T X &Y, TF WIT 8% ATMHH I 3 FHIA WA
10% T U | TTG SATST B THTET ST 8.7% ATHD
TE, AT 10% IR fT 7T o7 Y ARIFATE ?
(A) T 16,250 (B) T 14,250
(© 8,750 (D) 9,500
(B)  3rgaRd e
119. 2024 H EAT H IPFSE WS % I Teba= Raertigat &t | 119.
I RERR F G BT e ?
(A) 32 (B) 17
© 12 (D) 22
(B)  3raRd 9o
120.  STarg T 3R AT Y UG raat &1 & & 7 | 120.
! B TR AT 3 QA FFIT AT ?
(A)  AfyTes f3rerm Rae
(B)  TI9T eiET Wl
(©) 3 Hiplas faed
(D)  FHHRY 3 T Tog TN
(B) STIaRa ued
-00o0-
¥ 56HH 23

A person lent I 25,000 on simple interest in two
parts, one at 8% p.a. and the other at 10% p.a., if the
effective rate of interest comes out to be
8.7% p.a., then what is the amount lent at 10% ?

(A)
©
(E)

< 16,250
< 8,750

3 14,250
% 9,500

(B)
(D)

Question not attempted

How many players have been awarded Arjuna
Awards for Outstanding Performance in Sports and
Games 2024 ?

(A) 32
€ 12
(E)

(B) 17
(D) 22

Question not attempted

In which UNESCO list were the manuscripts of the
Bhagavad Gita and the Natyashastra recently
included ?

(A) Global Education Report

(B)  World Heritage Sites

(C) Intangible Cultural Heritage
(D) Memory of the World Register

(E)

Question not attempted

P.T.O.
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